HEAR: BNTEEL B

TERD: TBERMBER

Fr & i | EEHARZ58%i & X #%| 600,000 FH
EEES 088-864-1525 [FAXEE ] 088-864-0112 5t B HE| 310,000 FH
#i—LA"=%" | URL:http://www.kochiap.co.jp BEHEE 51.7 %
= _\a_ s b > ; 41U [4%] = 5
i}ﬂﬁﬁ; BiS6E4H22H |[REEBEL| RERDBBHE S =5 T
aak—nssza 100,000 FH
AEFN564E4 B BHZEHEE KRR ESTARE 31,000 FH
RAFI585E128  #HA—IFILEILTERK it
TER144E6 H A—IF)LELEETESET
= HZEE OB RICHF O B TE R OB E (1) BE=% ]
5 [RETEDO—REL T, fjkE . BYDE—STILEL| ¢ (2) ZHEC LA, BiF,. BEOHZHVICRERE. &
}L’&L SL. TOREFBELTETETEERES w M= 9 H%T. FIAREOREM
= HEMEEREICHLIBBMIZERRT H&EBI1, M (3) BE. XA UICIERERDOBRE
w5 L«ffx,ﬁ XIEDERICHEETHILEBHELT = (4) IR{THRA. TERM. TOMOYRERST
£%ar, (5) thEY. BITHRZE DR th
I ERHEE (EacFm) 0 SERER (SHAFEERE ~ B FHA)
SEERYE |4AFGERE |SEETE | |BEDE 4,114,887 BEDER 266,602
LHINA S a 941,278| 1,310,397 1,245967 R mEIaE 210,700
*‘*H}U\ 138,047 134,594 128,010 AMAE | 3096873 BEEE 55,902
5% fim {8 A AR A 245,107 251,903 251,643 - #EEDED | 3,848,285
ﬁ#ﬂﬁﬂl)& 73,746 67,064 65,476 EEHE | 1018014 StEXRE 600,000
AHEZEIA 37,241 42413 41,866 -
EEFZIA 429,544 802,472 749,337 SERERRE | 3248285
I=E AT e 9,103 10,603 9,635 x = gt o s
prasTpapes 8490 1 348 0 BEE | 4114887 |AEHMEEST| 4,114,887
BIERfEHRIN T E4E b 0 0 0
IRA&ET c=atb 941,278| 1,310,397 1,245,967 SHEEDIHEELEEE (B4 FM)
LHTHEE d 853,851| 1,164,288| 1,188,353 E E3 % =2 X B
EEEXR 279,882 513,881 489,488 BB 254,299
R —EEE 535,301 588,257 570641)e | ZDith(PBBIEHETEZ) 316,342
= A% -0 b Rl A 0 3 103,000
HRlE% 0 0 0
EABE 38,668 62,147 25,224
LHfIR T =48 e=a—d 87,427 146,109 57,614 EEESH =¢ 570,641
REIRBINTEES f=c—d 87,427 146,109 57,614
I 855X KR (SFMAEERE ~ B FH)
HaERHoTLAREH | ERANFLEE (FEXE) THER RIS | A5 (F%E) | FHE S (F58)
EEH®E 4N 28,508 o
FEHEE 0N 0 BE oo 457 7% 3,178 837
XEENLDIRER S RV BT -EEHHEEEMR<
V BB kiR (B FH)
SFEERE |4FEERE |5EEFTE it = (ELEMN-ARD)
A v R E X SRS —TF4T .
git& 0 0 0
FRitH 0 0 0
it 8,490 1,348 0
V BEOHDS6ROXZEKRE e Fm) VI EBEOIKR ($FISEAB1BHAE ~ BiL:A)
IFEEXR AEERXR (WEREH (2B E
. = HEEE| : Jos—ES 39
BEMEEE 0 0 ——
REH RS BEEE 3 1] 4] |mrEms 0
= STREr SHERRERS | 0l__ 0] __0f [EushshsnikE 0
BRI 0 0 55 B E08B i 1] 2| |mmeos 0
= - FEHRE 9 2| 11 8- Z0ih 0
BXREERS 0 0 YT ol 1 T %
55 ERE0B 1 0 1 BEE-EEHE 5
it 12| 3] 15 5 s B 0
& it 44
e ]




